Full ranger 8ohm, woofer 4ohm
a) overlap: LP on woofer 400Hz, HP on full ranger 100Hz   low 3.6ohms[image: A graph with a line
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b) hole: LP on woofer 200Hz, HP on full ranger 800Hz     low 4.3ohms
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c) small overlap:  LP on woofer 190Hz, HP on full ranger 150Hz   low 3.8ohms
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Description automatically generated]
image1.png
0 ohm Impedance 120
35 135
30 30
25 45
I — T .
\ —
20 V- 0
=N
\ -

15 i 45
N ANTAN -
5 ] — -135
0 180
20Hz 50 100 500 1k 2k 5k 10k 20k




image2.png
180
135

10k

1k

100

20Hz




image3.png
0 ohm Impedance 120
35 135
30 90
25 45
—
20 \ T O 0
i
e

15 e -45
s // \A\ ,__—_/_f_/-f—Jf -0
5 ~—] - -135
0 -180
20Hz 50 100 200 500 1k 5k 10k 20k




